[image: ]
2024 VCE General Mathematics 2 (NHT) external assessment report
2024 VCE General Mathematics 2 (NHT) external assessment report
[bookmark: TemplateOverview]Specific information
This report provides sample answers or an indication of what answers may have included. Unless otherwise stated, these are not intended to be exemplary or complete responses. 
Data analysis
Question 1ai.
1.6
Question 1aii.
0.185
Question 1b.
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Question 1c.
Lower fence = 0.39 – 1.5 x 0.26 = 0
As 0.22 > 0 (value > lower fence) therefore not an outlier
Question 1d.
	HHT
	=
	2.130
	+
	-1.054
	
	LLT




Question 2a.
	
	Frequency

	Occurrence
	LLT
	HHT

	before
	2
	3

	on
	1
	3

	after
	9
	6

	TOTAL
	12
	12


Question 2b.
Yes, as the percentages differ from ‘before’ to ‘on’ to ‘after’.
The LLT occurred after the New Moon on 75% of the  days compared to 8.3% on the New moon and 16.7% before the New moon.
Question 3
Mean = 6.2
Standard Deviation = 0.44
Question 4a.
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Question 4b.
– 0.686
Question 4c.
	form
	linear

	direction
	negative


Question 4d.
On average, when the LLT increases by 1 m, the HHT decreases by 1.08 m.
Question 4e.
Predicted value = 2.19 – 1.08 × 0.40 = 1.758
Residual = Actual – Predicted = 1.81 – 1.758 = 0.052
Question 4f.
0.45
Question 5.

Seasonal index =  = 0.97 to two decimal places
Question 6.
15
Recursion and financial modelling
Question 7a.
$560 000
Question 7b.
$48 144
Question 7c.


Question 7d.
[image: ]
Question 7e.
$4018.44

Question 8a.
The depreciation for each unit of use
Question 8b.
$40 875.00
Question 8c.
0.985
Question 8d.
0.95
Question 9a.
V0 = 35 000        Vn+1 = 1.025 × Vn – 1722
Question 9b.
Balance owing after one year
     FV: 31 482.8192…   31 482.82
Loan reduction: 
     35 000 – 31 482.82 = 3517.18
Total interest paid =
     4 × 1722 – 3517.18 = 3370.82
Balance owing after second year
    FV: 26 446.1112…   26 446.11
Loan reduction: 
    31 482.82 – 26 446.11 = 5036.71
Total interest paid = 
    4 × 2000 – 5036.71 = 2963.29
Total interest paid for two years = 
   3370.82 + 2963.29 = 6334.11


Matrices
Question 10a.
K and M
Question 10b.
J – M – K   and   J – M – L – K
[bookmark: _Hlk172624588]Question 10c.
M
Question 11a.


Question 11b.


Question 12a.
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Question 12b.
5 weeks
Question 12c.
86


Question 12d.
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Question 13a.
8900
Question 13b.
3000 × 0.3 + 1400 × 0.12 + 2400 × 0.3 + 3200 × 0.2 = 2428
Question 13c.
After 3 days 11292.8 in East field
After 1 day 11100 in East field


therefore 8%.
Networks and decision mathematics
Question 14a.
Ben
Question 14b.
3
Question 14c.
Ferris wheel,  Roller-coaster, Bumper cars
Question 15ai.
Hamiltonian cycle
Question 15aii.
E – M – C – R – F – T – B – E        or       E – B – T – F – R – C – M – E
Question 15b.
There are more than two vertices with odd degree.
Question 15c.
371 metres
Question 16a.
C, D, E, J
Question 16b.
26 
Question 16c.
14
Question 16d.
E
Question 16e.
	Activity
	Reduction

	A
	2

	B
	2

	D
	1

	E
	0

	G
	2

	H
	0
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